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muskan gupta 20 hours ag

Re a I c h a m p S 23:17 from u::hhatarpur-.- _ Monit 20 HI:IL.IFE; -

Thank-you Sir for this Amazing Class Session of Today's.. .
And
My Answer for today's homework is like-

Muskan Raj 20 hours ago Milk - water = 23 - 17.

—— -

Milk: water 23

| am from varanasi.. . -
Thank-you So much, Sir ji.. (22

And
| belong to Kurukshetra Haryana, The Land of Mahabharta..

Bishal 20 hours ago
Ans : Milk - Water
Tinsukia ,Assam ..‘ﬁ Arijit Ghosh 5 hours ago Jyoti 20 hours ago
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Hm Ans-11:9 2317 answer
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Home work answe
The ratio of milk and water i !
Very Nice session sir Thank you very much .
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SSC MTS/HAWALDAR/CHSL //EEm at 06:30 PM /

40 liter mixture contain the mixture of milk and water in the ratio 5:3. 16 liter
mixture is taken out and 11 liter water mixed in the mixture then find the new ratio

between milk and water?
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SSC MTS/HAWALDAR/CHSL //EEm at 06:30 PM /

In a class the ratio of boys and girls are in the ratio 2:3. If 20 boys and 20 girls
leave the class then ratio becomes 4:7. now find th resent number of student?
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SSC MTS/HAWALDAR/CHSL //EEm at 06:30 PM /

In a container the ratio of milk and water are in the ratio 1:3. if 9 liter milk and 9
liter water is added then the ratio of milk and water will become 2:3 then find

of mixture?
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SSC MTS/HAWALDAR/CHSL //EEm at 06:30 PM /

The monthly salaries of A and B are in the ratio 5 : 6. If both of them get a salary

increment of Rs. 2000, the new ratio becomes 11 : 13. What is the new monthly
saIary of A?
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SSC MTS/HAWALDAR/CHSL //EEm at 06:30 PM /

The income of A and B are in the ratio 10:11 and their expenditure are in the
ratio 20:23. If they save 2000Q0rs each then find the income of A?

ﬁ%ﬁ?ﬁ%ﬁ%ll%aﬁqwm 20:23 & 3JUTd H €1 If¢ d UI® Bl 20000




SSC MTS/HAWALDAR/CHSL //Ef™ at 06:30 PM

If the income of A and B are in the ratio 3:2 and their expenditure are in the ratio
6:5. if they save 3000rs and 15Q0rs respectively then find the income of B?
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SSC MTS/HAWALDAR/CHSL //EEm at 06:30 PM /

If the ratio between income of A and B are in the ratio 5:7 and their expenditure are
in the ratio 9:11. If their savings are 1200rs and 2000rs respectively then find the

income of A?
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SSC MTS/HAWALDAR/CHSL //Eim at 06:30 PM

If an examination, the number of those who passed and the number of those who
failed were in the ratio 4:1. If 35 less had appeared and the number of failures were
9 more than earlier, the ratio of students who passed to the number of students
who failed would have been 2:1. Find the total number who appeared at the

examination?
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SSC MTS/HAWALDAR/CHSL //EEm at 06:30 PM /

A bag contains 50 paise, 25 paise and 10 paise are in the ratio 5:9:4 respectively amounting to

206rs. Find the number. of cains of each type? .
3R 10 U BT 3JUTd SHHRT: 5:9:4 §, Sl [ 206 30 B | TP UHR & Riah| &
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SSC MTS/HAWALDAR/CHSL //EEm at 06:30 PM /

A bag contains 1rs, 50paise, 25paise coins are in the ratio of their value is 30:11:7
and_their total no. of coins are 480. Find the no. of 50 paise coins?
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SSC MTS/HAWALDAR/CHSL //EEm at 06:30 PM /

In a mixture of 60 liters, the ratio of milk and wateris 2 : 1. If this ratioisto be 1 :

2, then the%Jantity of vgﬁ%er to be further added is?
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What least number must be subtracted from each of the numbers 14, 17, 34 and
42 so that the remainders may be proportional?

TW-AT 14, 17, 34 3R 42 TA YIS H A DI A BT A BICT T YeTs St AT difs
GHUT &1 Geb?




SSC MTS/HAWALDAR/CHSL //EEm at 06:30 PM /

If the ratio between the income of A & B is 3:2 and expenditure of A, B & C are in
the ratio 8:5:2. If B save 700rs and expenditure of Cis 2000rs then find the savings

fA?
gﬁAaﬁTBﬁ&mw&W&%ésﬁTA B 3R C o 0T & 3JUId 8:5:2 g | Il B 700 ST
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SSC MTS/HAWALDAR/CHSL //EEm at 06:30 PM /

If the price of Diamond is proportional to the square of its weight. A man breaks this
Diamond in the ratio of 1:2:3:4 and he losses by 140000rs then find the actual price

of Diamond?
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SSC MTS/HAWALDAR/CHSL //EEm at 06:30 PM /

35 liter mixture contain mixture of milk and water in the ratio 5:2 and 78 liter
mixture contain mixture of milk and water in the ratio 7:6. If we mixed both mixture

then find the ratio of milk and water?
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SSC MTS/HAWALDAR/CHSL //EEm at 06:30 PM /

In a company, the salary of employees increase in the ratio 3:5 and the number of
employees decrease are in the ratio 7:3. Therefore , the company save 240000rs

then find the initial expenditure of company?
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SSC MTS/HAWALDAR/CHSL //EEm at 06:30 PM /

What number must be added to each of 45, 13, 33 and 9 such that the resultant
numbers are in proportion?
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